
note:
1.Please do not exceed the rated load, otherwise it will cause 
damage or personal injury to the product..
2. Be sure to follow the instructions in the manual. Improper installa-
tion may result in damage to the product or personal injury.
3. Please use our tools and accessories to install, otherwise it will 
cause damage to the product.
4. Make sure that the support surface can safely support the weight 
of the support equipment and all accessories.
5. This product contains small parts that can cause serious personal 
injury if swallowed. Keep out of reach of children.
6. This product is for indoor use only. Outdoors can cause damage to 
the product.
important:
Make sure you have received all the parts based on the list provided 
before installation. If any parts are missing or damaged, please con-
tact your supplier.
maintain:
Please check the workbench at regular intervals (at least every three 
months) to see if the workbench is stable and there are any screws 
that fall off due to long-term use. If there is a safety hazard, please 
replace the accessories or harden the installation in time.

HOGA-JW0411-0

This product installation 
requires two-fit installation



1 2

4 5 6

7

10

8 9

11 12

X1

X1 X1 X1

X3 X3 X3

X1 X1

3

X1 X1X3

HOGA-JW0411-1

1142.5X251.5X15

770X236X15 770X150X15 770X150X15

766X350X15 759X80X12 759X130X12

759X140X12 770X150X15

1142.5X251.5X15 802X252X15

(Left)yòu Right(zuǒ)



M6X40 M8X40

13 14

16 17 18

19

22

20 21

23 24

X1

X2 X3 X3

X6 X3 X16

X2 X1

15

X16 X22X4

HOGA-JW0411-2

96

25x25x750 14x3x900

M8

Right(zuǒ) (Left)yòu



25 26 27

28

X4 X4 X2

X2

HOGA-JW0411-3

serial number serial number 

serial number serial number 

M6X12

M4X15 M4X10

M5X70
model numbermodel number

model number model number

X4X6

ED

G H

serial number serial number serial number 

M6X45 M6X35 M6X15
model number model numbermodel number

X4 X6X4

B CA

serial number 

M5X50
model number

X6

X24X18

F



HOGA-JW0411-4

(AA)

(1)

(2)

Pre-installation instructions

There will be multiple No. 21 accessories in the 

follow-up. Do not repeat a single description in the 

installation step. Here, we will explain in a unified 

way. When installing No. 21 accessories, you need 

to align the top of No. 23 accessories at the back 

end of No. 21 and turn No. 21 clockwise, like an 

arrow. The marked direction. This description is 

numbered (AA) and then unified as (AA)

21

12

13

22

22

22

22

14

14

A

A

A

A



HOGA-JW0411-5

(3) (4)

(5)

3

B

24

24

24

24

B

B

B

24

1

24

2424

2424

24

23

23
23

23

23

23

23

23

24



HOGA-JW0411-6

(6)

(7)

2

23

23

23
2424

23

23

23

2424

2424

23

24

24

5

4

2324 24



HOGA-JW0411-7

(8) (9)

(10)

6

11

21-(AA)
21-(AA)

21-(AA)

21-(AA) 21-(AA)

21-(AA)
21-(AA)

21-(AA)



HOGA-JW0411-8

(11)

(13) (14)

(12)

21-(AA)21-(AA)

21-(AA)

21-(AA)

F
F

F
F

21-(AA)
21-(AA)

21-(AA)
21-(AA)



HOGA-JW0411-9

(15) (16)

(17)

E
E

E
E

F

F

16

16D

D



HOGA-JW0411-10

(18)

(19)

15
D

D

D

D



(20)

Wall

Wall

1,R4(drilling) 2,Put （I） 
into the hole

1.26  IN

3. Link the 
product to the 
wall with(H,J)  

Give the same to the left

25

25

27
26

26

28

HOGA-JW0411-11



(21)

(22)

(23)

(24)

HOGA-JW0411-12
G

GG

18

7

8

9

G

17

X3

X3

X3

X3
G

G

H

H



(25)

(26)

X3

HOGA-JW0411-13

H

H



(27)

(28) (29)

HOGA-JW0411-14

19
C

C

19

10

H

H
H

H

20

This step requires two people to work together to install



(30)

19

C

C

19

This step requires two people to work together to install

(31)

HOGA-JW0411-15



(32) (33)

(34)

HOGA-JW0411-16

10

H

H
H

H

20



(35)

(36)

HOGA-JW0411-17

19
C

C

19

10

This step requires two people to work together to install



(37)

H

H
H

H

20

HOGA-JW0411-18

We genuinely appreciate your purchase of 
our product.
Any problem (installation or damage caused 
by shipping), please feel free to contact us. 
Our customer service will help to solve the 
problem for your ASAP 
Email:support@tribesigns.com
customer service hotline：+14242206888


	HOGA-JW0411-0
	HOGA-JW0411-1
	HOGA-JW0411-2
	HOGA-JW0411-3
	HOGA-JW0411-4
	HOGA-JW0411-5
	HOGA-JW0411-6
	HOGA-JW0411-7
	HOGA-JW0411-8
	HOGA-JW0411-9
	HOGA-JW0411-10
	HOGA-JW0411-11
	HOGA-JW0411-12
	HOGA-JW0411-13
	HOGA-JW0411-14
	HOGA-JW0411-15
	HOGA-JW0411-16
	HOGA-JW0411-17
	HOGA-JW0411-18

